(1) 1/2-13 BOLT

(1) 1/2 FLAT WASHER

(1) 1/2 SPLIT LOCK WASHER
PLT ADAPTER

CAMERA YOKE
5052 ALUMINUM

_—

(2) 3/8-16 BOLT

(2) 3/8 FLAT WASHER

(2) 3/8 SPLIT LOCK WASHER
(2) 300 SERIES PEM NUT

RIGID CAMERA ARM
CAST 356 ALUMINUM

115/8"

(2) 3/8-16 BOLT
(2) 3/8 FLAT WASHER
(2) 3/8 SPLIT LOCK WASHER

CLAMP SADDLE
CAST 356 ALUMINUM

(2) 3/8-16 BOLT

(2) BANDS & BUCKLES
304 SS (BANDS)
316 SS (BUCKLES)

PART NUMBER

S$S-SB29-WAV
BAND LENGTH MAST ARM DIA.
29" 3'-7" BAND LENGTH
42“ 7|| _ ‘| 'III
o o o THE TNFORMATION CONTAINED TN —— ;
59 12'-15 el
70" 18- 21" DRl | e e v
OF SKYBRACKET IS PROHIBITED. TITLE
APPROVALS | BY DATE WAI\\/\/grllJQ&N IX
NOTES: prav | EW | 03/06/20 (BAND CLAMP)
1. STAINLESS STEEL HARDWARE. swis SN _
2. AVAILABLE WITH CABLE STYLE CLAMP. S 2" 55 sR29-WAY e
DO NOT SCALE DRAWING SCALE: NTSlCAD FILE: 55-5829-WAV |SHEET 10F1




	Sheet1
	Drawing View4


